Year &4 Spring 1 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section &
Mentally, solve these Thereare 121 cakes at a cake Calculate There are 27 children in a class.
calculations: sale. There are 11 trays to Eight ninths are at school. How
lay the cakes on. If the cakes x12=0 many children are at school?
4580 + 700 =
are shared equally between
x 12 =132
5438 + 900 = the trays, how many cakes
are on each tray?
+12 =10
3652 - 3050 =
+12=6
2126 - 120 =
Section 5 Section 6 Section 7 Section 8
Write the next four terms in these Complete the Write the time in 24-hour rectangle rhombus kite parallelogram
sequences. calculation. digital notation.

Write the name of the above

£0.10, £0.20, £0.30, £0.40... shapes which have:

Two lines of

£2708

£0.04, £0.08, £0.12, £0.16... + £2356

symmetry only

One pair of
equal angles

afternoon

Two pairs of

equal sides
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Year &4 Spring 1 Maths Activity Mat 5 - Answers

Section 1 Section 2 Section 3 Section &4
Mentally, solve these There are 121 cakes at a cake Calculate There are 27 children in a class.
calculations: sale. There are 11 trays to Eight ninths are at school. How
lay the cakes on. If the cakes 0 x12=0 many children are at school?
4580 + 700 = | 5280
are shared equally between
11 x 12 =132
5438 + 900 = | 6338 the trays, how many cakes
are on each tray?
120 +12 =10
3652 - 3050 =| 602
72 +12=6
2126 - 120 = | 2006 11 24
Section 5 Section 6 Section 7 Section 8
Write the next four terms in these Complete the Write the time in 24-hour rectangle rhombus kite parallelogram
. ion. digital notation.
sequences calculation igital notation Write the name of the above
£0.10, £0.20, £0.30, £0.40... shapes which have:
£0.50 || £0.60 || £0.70 || £0.80 Two lines of rectangle and
£2708 symmetry only rhombus
£0.04, £0.08, £0.12, £0.16... + £2356 One pair of -
£5064 equal angles kite
£0.20 || £0.24 || £0.28 || £0.32 . afternoon
Two p(lil"S O_f rectang[e,
15.38 equal sides parallelogram, kite
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